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2
Name SOLUTIONS . Section 3
Directions: Answer each question neatly in the space provided. 4
Please read each question carefully. You have 50 minutes for ‘ 5
this exam. No electronic devices allowed. Good luck! 6

7

8

TOTAL

1. [12 pts] This question concerns generating random numbers in Python. Recall that the
Python function randint (0, n)returnsarandom integer between 0 and n, inclusive. Using
the randint function, show how to compute the following:

1a. [2pt] A random integer between 0 and 29, including 0 and 29.
Cand vk (0, 2a)

1b. [2pt] A random integer between 6 and 12, including 6 and 12.
camdint (b,12) (3.8, 1,38~
__ {24 e v 028 (2
ic. [3pt] A random odd integer between 3 and 13, including 3 and 13.
23 cardink (0, 6) ¢ | = § 23,4 5,63

{"" h °‘ZYS*‘1 1d. [3pt] A random integer from the set {-4, -2, 0, 2}. You are not allowed 1o use any variables
= 9( 0,2,84.6%/,0r data structures. Write an expression involving randint. 2% cand et (o 3) - 4

i gl °.12,%3% 1e. [2pt] A random string from the array fruits below. 'Qm?rs T candiak (o AN
sc Bouikg T cand itk (0 e (fewibs V-t ) —1

fruits = ["banana", "cherry", "apple"”, "peaxr", "grape" |




2. [14 pts] This question concerns writing functions that involve randomness.

2a. [8 pts] Assume that spin () is a function that simulates a game wheel and returns a
random integer between 1 and 7. Consider a single player game where the player repeatedly
spins the wheel until she gets 7, recording the value spun each time. The player wins if the sum
of the values spun before the value 7 (excluding 7) is greater than or equal to 30. Fill in the
blanks.

def gamel():

sum = 0

value = spin{()

while value 1=
sum Surn + value
value = cow O)

if Suanny 72\30
return “You won.”

else:
return “You lost.”

I

2b. [3 pts] Recall that seed (n) is a function that seeds a random number generator with a
given seed n. That is, for a given seed, using the randint (0, n)function repeatedly leads
to a unigue sequence of random numbers. Consider the functions £1 (x) and £2 {(x) below
and give a value for x such that £1 (x) and £2 {x) would return different results.

Answer: X=% o anv numbec %(‘ca,{*—(( o 7
~ )

def fl(x):
seed (0)
if randint (0, 10} > 5 and x <= 7:
print (“First random number generated.”)
return randint (0, 10)

def £2(x):
seed(0)
if x <= 7:
if randint{10) > 5:
print (“First random number generated.”)
return randint({(0, 10)

2d. [3 pts] Explain briefly the answer you gave in part 2c.
Tn £2 F %27, rondiat wonld enly Le called onee ferehre Thae
volue  celnaned ¢ tre freeh value 5n fe  sequenec ﬁw?mkeo 4\3 a
cond o number  aemeratur.
T 1| vendiat qebs called ove rfﬁwcﬁ%& Trecehore the value 2
relwnd & e s€eond  wvelwne tn The Se qlent .



3. [6 pts] In the Blown To Bits reading, you learned how Google handles a search query for the
World Wide Web. Describe how a search engine such as Google gathers information and stores
that information so that it can efficiently search for the answers of queries. Be specific and
brief.
(:’V\’S\Q cpuls e wel Pm“&‘ - 14 wb\yz&s e
“;\b i o~ (e \Pm}e [r\; cczanbe a lOa,&Q s Tal .

anek bo J?L{-(Ywﬂ relevance bo  Seathn iéw—er(:ea ]

4. {14 pts] This question concerns networking and the Internet.

4a. [3pts] What is the purpose of an IP address? Your answer should be at most 2 sentences.

1P addrexs (g a WA g ue denhlec of a machine (Bevict tpaneckd b e
tnbeael o local nefwark.

4b. {4pts] A sample IP4 address may be shown as 128.237.122.178, where each group of digits
is represented by one byte. Assume that first three numbers (128, 237, 122) represent the
distinct network address and last number (178} represent a machine specific to that network.

e o represents 2% pesgbilibies

(i) How many distinct network addresses are possible with this format? You don’t need
to simplify the answer. 2% 2% % 28 = 27

{ii) How many distinct machines can be on any one of the networks? You don’t need to
simplify the answer. 2¥

4c. [3 pts] A telephone network is known as a circuit switching network and the Internet is
known as a packet switching network. Describe the major difference between these two types
of networks and why the packet switching network idea helped the rapid development of the
internet. Your answer should be about 3 sentences.

A cecack g\,_,}{ml,\;v.ﬁ vehwoell ceeates q —kmrm tommaunicabiom [l

bebvren twe vudes ae waintaing e lnk ag ((Mﬁ oy Tre bar
ey ot C{/VWHCM.
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4d. [2pts] What is a major difference between TCP protocol and UDP protocol? In what
situation that one is preferred over the other? Your sentences should be 3 sentences at most.

'{Q? ?m\-ec,o\ (XA 4 (‘e,[\‘d.u{_ mmmuwfq(ﬂ.&;ﬂ) ch lyac‘cbgg,{—; cu"a‘
Lnsares w;ﬂ/\(:v-j (RRN lest wa\‘) WSM‘SS!‘m.
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4e, [2pts] We often say that the Internet is made up of core and edges. Explain briefly what this

means to you. Identify one hardware element in the core and one hardware element on the

edge.
The (ot oF The mknet & nade e of coubes . Srevers | onnel
ot hhavd vewre [ s Companents | Tie ea’@q ot Che jndividual
Ccswxgw\“&f‘S e local nehuerks

5.[10 pts] This guestion concerns security.
5a. [2pts] What is not public in “public key encryption”? Circle one answer:

{a) The product of the two prime numbers used to generate the keys.
{b} The public key.
(c) The decryption algorithm.

@The two prime numbers used to generate the keys.

5b. [4pts] Alice and Bob want to use public key encryption to send a secret message. Assume
Alice’s public key is e, and her private key is da, Bob’s public key is eg and his private key dg.
They both know a function encrypt (plaintext, key) that can be used to encrypt a
message, and a corresponding function decrypt (ciphertext, key) to decrypt it.

Write an expression involving the encrypt function and the appropriate key to show how
Alice would securely send the message “ready” to Bob.

‘CV\L(‘L\()% (MF{&J v&“ . &K\)




~ Write an expression involving the decrypt function to show how Bob would decrypt the

message he received from Alice. You can assume that Alice’s encrypted message is stored in the

variable M. J% ?m&mg q

M = ﬁV\CthP)( (.“(‘eod\f;' ep) - O\CC(‘:&)\PST (—M \ dl%)

5c. [2pts] The RSA public key encryption algorithm is believed to be secure because what is
believed to take time that is exponential in the length {(number of digits) of the input?

FQC\’\}ﬂ;/\t\ o number

5d.]2 pts] Which of the following properties describe a one-way function. Circle one answer.

(a) 1t can be computed efficiently.
(b) lis inverse can be computed efficiently.
{c) lts inverse cannot be computed efficiently.
(d) Both (a) and (b}
@Both {(a) and (c)

6. [20 pts] This question concerns concurrency.

6a. [6 pis] Consider the two sequential programs given below that are run concurrently on a
single processor. The steps of the first program are written as al, a2, and a3, and the steps of
the second program are written as b1, b2, and b3.

Program 1: al Program 2: bl
a2 b2

a3 b3




Which of the following sequences of actions can arise from interleaving the steps of the two
programs on a single processor? There are multiple correct answers among the 5 options. Circle
all of them.

(@) )| a1 (b) | a1 () | a2 (d) /| b1 @)\ bl
Ne—

bl a2 bl b2 b2

a2 b2 al al b3

b2 bl b2 b3 al

a3 a3 a3 a2 a2

b3 b3 b3 a3 a3

6b. [2 pts] For those answers that you did NOT circle, state briefly why they cannot arise from
the two given programs.
E cxcl/\ ﬁ)mamm (s —QKJaCux\'CJ Seﬁmh'\al L\j Se qwﬂ
1
Sequremer Such ol a? g5 amd AL L2 L3S

V\fia«,hyv‘c‘ Nd&rz‘wi) CS thk' (\99(74&:4 Cam‘{' L,_e w(c‘a{,

6¢. [2 pts] Suppose that the following are the steps for executing one instruction on a processor
and that each of these steps take 1 milliseconds to complete.

F. Fetch instruction from memory

D. Decode the instruction and fetch operands
E. Execute the instruction

W. Write the result into registers or memory

How long would it take to execute 5 instructions, one after another on a single processor?

Lme -5 = 70 ms




6d. [2 pts] How long would it take to execute 5 instructions on 5 different processors running in
parallel if we assume that all instructions start their execution at the same time?

“Honsg

6e. [4 pts]Pipelining is used in computers to speed up execution of instructions. If a 4-staged
pipeline is used for executing an instruction on a single processor, how long would it take to

have 5 instructions completed? Show your work.
L2 3 4 € & %

Fbew
EFOD B W
F D B W guns
B DB W
£ D B W

6f. [4 pts] Consider three programs running simultaneously, each wanting access to the same
three databases. When a program accesses one database, it locks it so another program cannot
use it. Once the program is done using the database, it unlocks the database. If a program tries
to access a database and it is locked, it waits until it is unlocked. Explain how deadlock can
occur for these three programs.

Pro%mm /X _ P/\oﬂw BN (/m&mm - Byecuhan Seq.
- Lock 81 | Leck ®RB2 |+ Leck D83 \:‘\‘

7. Lek OR2 2. Lock OBZ 2. Leeke OB 2 o

2. Lok OBZ 2 Leck OB | 2. Leele OB B2 N
Sl Do Shatl 4. 3{'\1\00\3 1o 4. Sleep

S Onleck DB3 S, Ouleck 081 S t=e Unlock V32

L Lubitk DBZ ¢ Luleck OB3 6. Ounlxle VB
1 Dleck DBL T Dulecke 082 T Unlock W3

7. [16 pts] This guestion concerns simulation.

In a simulation of the spread of a flu virus among a population of 500 individuals, information
about individuals' health is stored as integers in a 25x20 matrix using 4 for healthy (but not
immune), 3 for infected {but not yet contagious), 1 or 2 for contagious, and 0 for immune. There



are functions defined to test what state an individual is in. For example, healthy (matrix, i,
j) testif the individual at (i, j) in the matrix is healthy. For the individual at column j of row i, the
following code is used during each update to determine if the person becomes infected:

if healthy(matrix, i, Jj):
k=20
while k < 4:
# contact a random person in the matrix
if contagious (matrix, rand(25), rand(20)):
newmatrix[i] [j] = 3
k=%k+1

7a. [2 pts] Based on the code given above, how does a healthy (but not immune) person get
infected? Circle your answer:

(a) Jf at least one of four random individuals is contagious, the individual gets infected.
(b) If exactly one of four random individuals is contagious, the individual gets infected.
(c) If exactly four random individuals are contagious, the individual gets infected.

{d) None of the above.

7b. [2 pts] Based on the code given ahove, can a healthy individual get infected by contacting
himself? Explain your answer briefly.

No euem il eton lelshe combucts baon/bese (£ LF
Mtej m’& WS m CMH‘S LZW;) OL\—COK.

7c. [4 pts] Define a Python function contagious (matrix, i, 7j) thatreturns trueifand
only if the individual in row i and column j is contagious. Assume i and j are valid matrix
indices. )
0\{% Cav\'k—c.StO'V\-S (W'\'({\c \ N \ 3 \‘.
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7d. [4 pts] Complete the following statement that sets an individual in the matrix at row i
column j to immune with a probability of 25%.

if randint (0, 3 ) < \
newmatrix{i][j] = 0




7e. [4 pts] A new feature of this simulation is assigning a score to a person to indicate how
healthy the surrounding neighbors are. The neighbors are the people immediately to the north,
south, east and west of the person being scored. Suppose we compute this score as follows for
the person in the matrix at row i column j:

score = matrix[i-1][]j] + matrix[i+1]{j] + matrix{i][j-1]1 +
matrix[i] [j+1]

For what value(s) of i and for what value(s) of j does this computation fail for a matrix of

people of size 25 X 20?
R R K
5 L o .19

8. [8 pts] This question concerns Al and game trees.

Consider a game that is played by two players taking turns to choose a number between 1 and
9. A number that has previously been chosen by any player cannot be repeated. The game is
won by the player who has chosen 3 numbers that sum up to 15. For example, suppose that
the game unfolds by two players choosing the following numbers by taking turns. The
underlined numbers in bold face are the choices of player 1 and the rest are the choices of
player 2. This game has been won by player 1:

624581 3. The player 1 wins because 4 + 8 + 3 = 15 and she is the first player to have chosen
3 numbers that sum up to 15.

8a. [1 pt] How many possible moves are there for player 1 in her first turn?

8b. [2 pts] How many possible moves are there for player 2 in her first turn?

8c. [5 pts] How many possible different games are there if we assume that every game ends
only after all 9 numbers have been chosen? You don’t need to simplify the answer.
]\




